ArcGIS 10.2 GeoEvent Processor for Server
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Benchmarking Approach
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Benchmark Metrics Machine  Mfg 05
Production Time (in ms) DP6IOW7 Dell  W7-64Ent

Consumption Time (in ms) e |t

Z210LG HP W7-64 Pro

Total Time (in ms)
Latency of first receipt (in ms)
Latency of last receipt (in ms)

For each Benchmark

Produce Volumes ranging from 100 to 1,000, in steps of 100
Run 3 Iterations at each Volume e.g. 3 runs @100, 3 runs @200, ..., 3 runs @1000

Record a summary line of metrics at each volume:

CPU Type

Intel Xeon
Intel Xeon
Intel Core 15
Intel Xeon

CPU

3.00GHz
2.83GHz
3.33GHz
3.40GHz

totalEvents minProductionTime minConsumptionTime minTotalTime minFirstReceivedLatency minLastReceivedlLatency
successes maxProductionTime maxConsumptionTime maxTotalTime maxFirstReceivedLatency maxLastReceivedlatency
failures avgProductionTime avgConsumptionTime avgTotalTime avgFirstReceivedLatency avglastReceivedlLatency

producerConnections medProductionTime medConsumptionTime medTotalTime
consumerConnections devProductionTime devConsumptionTime devTotalTime

medFirstReceivedLatency medLastReceivedLatency
devFirstReceivedLatency devlastReceivedlatency

Cores

R R
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RAM Purpose
4GB Test Harness
8GB Consumer
8GB Producer
8GB GeoEvent Processor
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Pass Through Benchmark (100 services)
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10 Attribute Filters Benchmark
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50 Attribute Filters Benchmark
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100 Attribute Filters Benchmark

et — SomiRm }4 il - b el o b SRRl .| " i 7 pdbm® 0+ Syl b ik + Sedl + gttt - pwifel o b e 7 gt + guttmn it -‘— i o + fpestiheetl Syt o |H YA -‘H P 'W"""‘
b ittt 5 | 5 it b i ‘. oty . 275 | b finen ] R S T < tpmitnntt L ptanst e R ] . s L Sntfuett o | o i [ peifartl it ‘ L Smifil E

|. et < yettmny [ Syt s —L P L PR _|- Somita > — ‘. e ‘. [ t P —t PR —|~ St 4 Gty — L St 7I‘ etiorn o oty o g o it o b iy b it o L i 5 —1

2000

1500

milliseconds

= gvgProductionTime

e gvgConsumptionTime

600

e gvgTotalTime

1000

500 -

1
1
I
1
1
1
1
I
1
1
1
1
:
L T T T 1 * 1 1 T T T 1 T T T T = T T 1
100 200 300 400 500 600 700 800 900 1000 11001200 1300 1400 1500 1600 1700 1800 1900 2000

# of GeoEvents GeoEvent Processor 10.2.0.1153
06/07/2013



milliseconds

GeoEvent Processor Attribute Filtering Benchmarks
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GeoEvent Processor Path Through Benchmarks
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GeoEvent Processor
Pass Through + Attribute Filtering Benchmarks

Scenario
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1 US County Boundary Envelope Spatial Filter Benchmark
US County Boundary Envelopes = 1 feature with 4 total vertices
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10 US County Boundary Envelopes Spatial Filter Benchmark
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100 US County Boundary Envelopes Spatial Filter Benchmark
US County Boundary Envelopes = 100 features with 400 total vertices (4 average)
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milliseconds

1,000 US County Boundary Envelopes Spatial Filter Benchmark

US County Boundary Envelopes = 1,000 features with 4,000 total vertices (4 average)
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2,000 US County Boundary Envelopes Spatial Filter Benchmark

County Boundary Envelopes = 2,000 features with 8,000 total vertices (4 average)
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3,000 US County Boundary Envelopes Spatial Filter Benchmark
US County Boundary Envelopes = 3,000 features with 12,000 total vertices (4 average)
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US County Boundary Envelopes Spatial Filter Benchmark Summary
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51 US States Spatial Filter Benchmark

US States Boundaries (Generalized) = 51 features with 13,691 total vertices (268 average)
100 randomized points per US State Boundary
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51 US States Spatial Filter Benchmark

US States Boundaries (Generalized) = 51 features with 13,691 total vertices (268 average)
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8 Continents Spatial Filter Benchmark
World Continent Boundaries = 8 features with 181,210 total vertices (22,641 average)
1000 randomized points per World Continent
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8 Continents Spatial Filter Benchmark
World Continent Boundaries = 8 features with 181,210 total vertices (22,641 average)
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GeoEvent Processor Spatial Filtering Benchmark Summary
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GeoEvent Processor Spatial Filtering Benchmark Summary
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Scenario # of GeoFences # of Vertices # events per second

1 County Envelope 1 4 1100
10 County Envelopes 10 40 1100
100 County Envelopes 100 400 875
1000 County Envelopes 1,000 4,000 325
2000 County Envelopes 2,000 8,000 180
3000 County Envelopes 3,000 12,000 130
US State Boundaries 51 13,691 150
Continent Boundaries 8 181,210 11
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GeoEvent Processor Benchmark Summary

Scenario # events per second (1136) # events per second (1153)

Pass Through - 1 service 900 1050

Pass Through - 10 services - 150

Pass Through - 100 services - 20

No Operation Processor 800 1050

1 Attribute Filter 700 1050

10 Attribute Filters 600 1025

50 Attribute Filters 600 800

100 Attribute Filters 400 600
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Scenario # of GeoFences | # of Vertices | # events per second (1136) | # events per second (1153)

1 County Envelope 1 4 1200 1100
10 County Envelopes 10 40 1000 1100
100 County Envelopes 100 400 600 875
1000 County Envelopes 1,000 4,000 250 325
2000 County Envelopes 2,000 8,000 - 180
3000 County Envelopes 3,000 12,000 - 130
US State Boundaries 51 13,691 110 150
Continent Boundaries 8 181,210 15 11
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